4 0JO0O0o0oboOo0

oboooooobobo0oooobooboboboobo 2000000000 bOObOOOOOOODbOn
oboboooooboobooooooboboooon

public class Bmi {
public static void main(String[] args) {

gbobio0ob01000000class 00000200000 0main0 000000000 0OODOO
goo

4.1 00O000OO0O0OOO0OOOOOOODOOD

gboooooooobooobooooboooboooooooooobooobooobboobooOo1000oo0ag
gboobooboooooobooboooobobooocboboooobooboboobobooooooboboOon
gboooooooooboboooobobooobooooboboobOoboooboooboobOon e
gboboobooboboooooob 20000000b000b00O0O0OOO0bOO0OOOOOOODbOOOn
gbooboooooobooooooboooooboooob.oooocoboooooooboobooooobooon
gbooooobooboboooooboboooo

gbboooobooobooooboooooooooboooboooobooboooooooboooboooog
ooo

public class Recursive {
public static void eatIce() {
System.out.println("Eat one ice ...");
double value = Math.random();
if (value >= 0.75) {

System.out.println(" ... You are lucky !! One more ice !!");
eatIce();
}
}
public static void main(String args[]) {
eatIce();
System.out.println(" ... See you.");

Ub000000D000 Recursive.javalOODOOO0OO0OO0OODOOO0O0DOOOOOCOOODODOO
gboooobobooooobooooboobobooooboo

Eat one ice ...

You are lucky !! One more ice !!

Eat one ice ...
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You are lucky !! One more ice !!
Eat one ice ...

See you.

ooo0oo0o0oomoDooooooo0ooooo0ooDooO000oo0 Java0D0OO00OOOOODO
gooooooooooooobooOoOoo0ooooooooboOobOoOoobDbOOOoODbODOObObOOoOuOoooo
goooOoooooOooOooooOoo0oOobbooOooooboOoooooDo

000000000 20000eatIced 00000000000 0ODOOOOOOOODOOOODOO 30
OO0 Eat one ice ... 0000000000000 DOMMOO0ODOO1000DO0O00DO0OOODDOO
oo00D4000000value 0001 0000000000DO0O0O00O0OO  o.75600000000
oboooooboooobOoobooobooOoooOoOon... You are lucky !! One more ice !''O000
0000000 eatIce0O000O0002000000000000 0.7560000000000O00O eatIce
0000000000 00000 eatIceO0O0O0OOOO0ODODOOODO

OO0 eatIce0000D0011 000 main 000000000000 DOC0O0O0D0O main0O00O0OOO
obOd... seeyou. 00000000 OO0ODOOOOCOOODOOOOOCOOOODOO
gooooooooooooboooooobobooooooooboooooOooooboOoooooDobOoo

4.2 000

Ubob00JavalOOO0OO0OO0OO0100000O000O0O0O0C0ODOOO
bobooooobooooobobooobooobooboooooooooobooboooboobooonoog

public class Bmi {

obo00OBmi ODOO0OO0OO0OO0OO0OO0O0OOO0DOOOO0OOODOOOOOOOOOOOOO0OO0O0
obob0o0o0ob0oddJseva0O00OO0OO0O0OO0ODOOOOOOODOOOODOOOOODOOOOOOOO

goboob<dbogd»>.java

gboooooobooooboobobooobooobooobooooboooboooooboOooboooog
gooooooo0(oooD)DOOo0D0Dhjavad0D00OO0O0OO0OOO0OOOOOODOODOODOOODOO
oooono

gboobOobobooooobOoboobOstringO0OO0O0OO0ODOOOO

4.3 00000 returnU
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oboooooooboooooboooboobooooobooobboobooOoobooobooobooboobooobooOon
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gobodo oo oOoobO ooboooboobobooOoooobooooboOooboooboobooOooonoo
gboooobooboooobooooobo

y = fx) (1)
0000000000000 000000000-0000000 f(z) 000000000 DOOOyO

gboboobooobobooboooooooomoomooooooooooobooobooooooobooon
obooooogo

O 7Javal0000000000O0OO0O00ODOOOODOOO
o0 | 000000 |JavaDDODOOODO

¢ | 00000 00
fz) | 0OO 0000
y |DDOOo 000

gbooooooboo

gbbobooooboo0o0obo0obO000Bmi.java O BmiMethod.javaO OO OOOOOOOOOOOO
obobooooooboobooooobooobo

public class BmiMethod {
public static double calculateBmi(double weight, double height) {
double result = weight / (height * height);

return result;

public static void main(String[] args) {
double w = 67.0;
double h = 1.78;
double bmi = calculateBmi(w, h);

System.out.println("BMI=" + bmi);

O0000000002000 calculateBniOO 007000 main0O0 0000000000 O00O0ODOO
o00oooooooooooDoo gooooogo

2000 calculateBmi 0 0 OO0 (double weight, double height) DO DO ODOOODODOOOOO
double 00 weight 00 OO OO Odoubled 0 height 000000000 2000000000000
ooooo

7000 main 00000 (String[] args) OOO000O0O0OD0OO0OODOO Stringd 000000 args
oooooooooooooboooog

0000000000 00Db0O0020000 double, 70000 void OODODOOODOOOOODO
0000002000 double DO calculateBni DO OOOO0O00OO doubleOOOOOOOOODOOO
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007000 veid O0main 000000000000 O0COO0COOOCOOOveidO0OOOOOOOOO
oooooOoooooooooo

O000OcalculateBmi OO0 O0O0O0O00O0O0O0O0OO

3000 double result = weight / (height * height); OO Odouble 0000 result O OBMI
O000000o0o0oo0dobodod 4000 return result; DO00O00 result 000000000
ooooooooooooooo

calculateBmiO OO O OOO0OO0O0O0
return 0000000000000 0O00 result 00000000

oopooobooooog
O00OcalculateBmi OO0O000 main 0000000010000 double bmi = calculateBmi(w, h);
JooDooDoDoooDOooooooooog

0000 calculateBmiO OO wOOO hOOOOOOOOO
000000 doubleOOOO bmiOOOOO

gbooboooooboooobooboooobobooboog

1. min0000000 wODOO hOO0OUO0OcalculateBmi DO 00000 weight 00 O height U0
oooooooo

2. calcluateBni OO OOO00OD00O0 weight 000 height 00 0000000O0O0O
3. calculateBni U0 0000000 Omain 0000000 miD0O0OODOOO

gbooboooooboboooobooooboboog

return [J

0000000000000 0000 return O0000000O0Oreturn 000 20000000
goo

Ub10000000veid0 0000000000 O0DOO0O0DOOOOO00O0OO00DOO0O0O0veid0000O
oboooooo

return [ ;

gbooooboobooboooooboobobooooobobooooOobon

obogo20000000000O00O000O00O00DOOOODOOOOCOOODOOOODOOOOOOnOO
0000000000000 000O0b00000 method1 OOOOOOO0OO0O0OOOOODOONO methodl
gbooooooboboo

public static double method1() {
return 0.1;

*

Ubo000o000bDO00O0return000000000 method1DOOOOO0O0OO0ODOONO Umethodl
Ubob000O0return 00000000000 OO0ODOOO
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U0 veid00000000O00DOOreturn 00000000000 O0DOO0DOOOOOOODOOOO
U0veid0000OO000O0OO0ODOOOOOO

public static void method1() {
-3
return;

*

Ubo0b000O0return 0000000000000 OOOO;0D0000000000O

oo

gboboooooboooobooooboooboboo oobooboobooboOoooobooboooboOdJavald
gboooooboobobooooboooobobo booooooboobooooobOooboooo
oboooobooooooobooooboobooooobooo

44 00000O0O0DOOO0OOOODOO
oboooooboobooooobooboo

JavaOOODOOOOOODOOOOODOOOO01000000O000O0DOODOOOOODOO0OODOO
gooooooboooooooooobooobooooo

0000000000000 OBmiMethod.java O BmiMethodl.java OO 0O BmiMethod2.java [
gooooooooo

cp BmiMethod. java BmiMethodl. java
cp BmiMethod. java BmiMethod2. java

U0O00BmiMethodl.java 0O D0OOO0OO00O0OO0OO0OOO

public class BmiMethodl {
public static void main(String[] args) {
double w = 67.0;
double h = 1.78;
BmiMethod2 method2 = new BmiMethod2();
double bmi = method2.calculateBmi(w, h);
System.out.println("BMI=" + bmi);

U000BmiMethod2.java 0O DOOO0OO0O0O0OO0OOOOO
public class BmiMethod2 {
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public double calculateBmi(double weight, double height) {
double result = weight / (height * height);

return result;

0000000000 0000000000000 BmiMethod1i OO OOOOOOOOOOOOOOOO
0000 3,400000000000000double0 000 wOOO hOOOOOOO
000 5000 BmiMethod2 method2 = new BmiMethod2(); OO DO OD OO

BmiMethod2O0 OO0 10000000000 method2O00000O

0000000000000 D0 newDOOODOOOOO0OODOODOOOODOOOOOOODOOOOOO
0000000oooooooooo3.s00000000000000000000000 newDOOQOOO
00000000000 bOO00O00O0D0DO0DO00o0DO0DO0bO00D0DO newdOOOOOOO4.500
opooooo

000 6000 double bmi = method2.calculateBmi(w, h); OO0 00000

00 method20 0000 calculateBmi OO OOOO
O00wdOOO hOooooooooo
Oo0odooooO0 bmiOOOO0O

00o0000o00o0o00o0o0o0o0ooo0o0Doo0o0ooo0oooo0ooD.0oo0ooD () o
0000000000000000000D0 (.)o0oOooooooooanf*

000 BmiMethod2OOOUOODOOOOO0OO0OOO0OO0O000D0O0D0O0main0000000DO0O00OOJava
U0000000Omin00000000000O0000OC0000O0O0O0O0Java0000 mainO0O00000
0000000000 0Omeind00000000O0O0O0O0OOCOOOOO0OOO0DOCOO0O0O0OOOOO0O0OO0
main 00000000000 0main0000000000000000CCOO0O0O0O0OOOOOOOO
Ub0000000000BmiMethod20 0000000 calculateBniDOOOOO0O0O0O000O0DO4.30
oboooooooooboono

uboooooboobooooboboo

gboooobooboooooboooboooobOoboobboOoo2000b000b0000O00O0DbOb0On
ooo

javac BmiMethodl. java

javac BmiMethod2. java

gbo00obooboOob0o0o00b0O00D0 BmiMethodl OO0 BmiMethod2 OO OODOOOOOOO
gdbooooboboooooob0obo0oo0n0dnBmiMethodl OODO O BmiMethod2 OO O OO
oboooooooobooooon

000000000000000000000000000000.00000 ()00000000000000000000
oobooooobooo
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gbobo0ooboobobooobobobbdbjaval0000Omain OO0O0O0OD0OOOO0OO0ODOOO
gboobOobO0oboo0o0o0ob0O0bOBmiMethodl OOOOOOOOOO

java BmiMethodl

uboooood oboooobooboboooobooboobo

BMI=21.146319909102385

4.5 new JO0O0OOOO0OOODO

ugboo0s.500004.4000000newd0000000O0O0OCOOODOO

JavalOOOOOOODOOOOOOOOOOOOOOOO0ODOOODOOOOOOO0OOOOOOOODbOOOOn
gboooooobooooooooooboooooboobooooooboooooboooooooboooooobooon
gboooobooobooobooboooboobooooobooooooooboooobooooooobooooboooon
booooboobob00O0OnewhOOOOOODOOOOOOOO

new 100000
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e (000D DODOODOODOODODOOOD4.400000D00O0O0ODOOOOOnew OOOO (OO
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BmiMethod2 method2 = new BmiMethod2() ;

O

e JO0OOOOOODOO3.50000000000000O000O0O0iIntO doubledOOODOOOOO
OooboO00O0O000O0o0o0oO0O0bOOnew OO0 [DOJOOOOOOOOOOOOOOOOOOOO
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int aa[] = new int[10];

e 100000 DUIDODOUOUODODOOUODUODODOUOODODODOOODODODOODODO
00o00ooooooooooooooooon
BmiMethod2 method2[] = new BmiMethod2[10];
for(int i = 0; i < 10; i++) {
method2[i] = new BmiMethod2();

gbooogo

gobooO0oooobooooobobooooooooboOooooboooooooo0oooooboO0o0oO0ogg Java
Ubb000newdOOO0OO0OO0OO0OOOOOO0ODOOODOODOOOODOOOOOOOOOODOOOORnewO O
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gbbooobooobooooboooboobooboo0obbbOO BmiMethod2OOOOOOOOO
0000000 BmiMethod2() DD DO OOOO
0b00004.4000000 BmiMethod2OOOOOOOOOOOOOOOOOODOODOO

public class BmiMethod2 {
double weight;
double height;
public BmiMethod2() {
weight = 67.0;
height = 1.78;
}

public BmiMethod2(double w, double h) {

weight = w;

h;

height
}
public double calculateBmi() {

double result = weight / (height * height);

return result;

oooopopooooo
e 4000 public BmiMethod2()
e 83000 public BmiMethod2(double w, double h)

o2000000000000000000
gbobooooboooboobb200b0ogoooobooborobboooooooooboooonog
gbboooboobobOooboob0odbnewO 00000000 DOOOOOOODOOODOOOOOOO
obooooooboooocoooobooon
obb0400000000000000000000newd 00000000 weightOOO heightOO
goooer.o, 1.7800000000
shUbboU00OUOb0bOb0U0bO0b0bU0UOnewDODO0O00O000wOOO hOOOOODO weight
O00 height 0OOOOOOO
Ub0000000000 BmiMethodl.java DO OOD0OOO0O0OO0ODO0O

public class BmiMethodl {
public static void main(String[] args) {
double w = 75.0;
double h = 1.68;
BmiMethod2 method2 = new BmiMethod2(w, h);
double bmi = method2.calculateBmi();
System.out.println("BMI=" + bmi);

33



00000000005 000 BmiMethod2 method2 = new BmiMethod2(w, h); OO OOOOOOO
BmiMethod2 OO OO 8000000000000 DOOOOOOOOOOOBmiMethod1 OOOO 3,400
0000000000 wODOO hOD0OOO0OD0OO0OO00O0OO00D0OO000000

BMI=26.573129251700685

obobooooooboobooboboooon
000000 BmiMethod1 OO OOOOO550000

BmiMethod2 method2 = new BmiMethod2(w, h);

BmiMethod2 method2 = new BmiMethod2() ;

o0oboO0oobOobOOooobOo0ob0oobOobOob0OBmiMethod20000 4000000000000
gbob0o0o0obodOdBmiMethodi OO0 3,4000000000000w0HO0O0 hODOOOOOODO
BmiMethod2 OO OO 40000000000 O0O00O00O0COOODOOOCOOOOODOOOOO
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